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120 X == = 120 X 1012 ms = 1.2 X 101 ms (|
g 1kg 1cm3

m3  103g 107%m3

e

0.8 =0.8x 103 = 8 x 10 =£
c m

15,365 celu24  4i3e60 4l 60
ol 5 yoe = 85 Jlo X X X X = 85 X 365 X 24 x 60 x 60
Jul 1 celul amsel
=85x%x101%x3.65%x102%x24x10'x6x10'x6x 10?1
~10x 101 x1x10%2%x1x10'x10x 101 x10x 101 =10°s

N

(I
m m 4000
p=——>v1=—=—=1000cm3
v 4 Y
(<
v . =1200—-1000 = 200 cm?
0 o
Wiy = 0, Wy = mgh = 2 X 10 X 3 = 60j
Wsz—fkd=—2X6=—12_]
WT = WFN+' ng + Wfk = 4‘8] v
1 m
WT=K2—K1—>48=Emv22—>48=v22—>v2=\/48=4\/§?
E1=E2—>U1+K1=U2 e (%)
1 1
—>mgh1+§mv12=mgh2—>10><2+§><100=10h2—>h2=7m
=36 36=10" bo | v
(Ul_ h T S) N
R Wm X 100 - R mgh x 100 — 80 160 x 10 x 30 X100 -t =20
=— - Ra=—— - 80 = St=
“Tw, “="pt 3000t s e
(A
AP = pgh = 1000 x 10 X 20 = 200000 Pa = 2 X 10° Pa
(<
\l4

A=mr?=3x(04)?=3x0.16 = 0.48 m?
F=PA=2x10% X 0.48 = 0.96 x 10% = 9.6 x 10*N

:sbaol gli:ub._;:i_a.o:azan.oéblg.‘slépbgpb 6305 Po : o b mo>




